Algebra 2

For each problem below, you are given the value of 6.

a) Draw the angle in the unit circle,

b) state the Quadrant in which the angle terminates, and
c) calculate the values of the sine and cosine.

Example: If 6 = 30°
a) See the diagram.
b) Quadrantl

c) cosf = 0.866 and sinf = 0.5.

1.0 =45°

b) Quadrant

c) cosf =

sinf =

2.0 = 60°

b) Quadrant

c) cosfl =

sinf =

3.8 =90°

b) Quadrant

c) cosfl =

sinf =
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Name:

0.5

\(0.866, 0.5)

4.0 =120°

b) Quadrant

c) cosl =

sinf =

5.6 = 135°

b) Quadrant

0.5

c) cosl =

sinf =

6.0 = 150°

b) Quadrant

c) cosfl =

sinf =




7.0 = 180°

b) Quadrant

c) cosfl =

sinf =

8.0 = 225°

b) Quadrant

c) cosf =

sinf =

9.6 = 270°

b) Quadrant

c) cosf =

sinf =

10.6 = 300°

b) Quadrant

0.5

c) cosf =

sinf =

11.6 = 360°

b) Quadrant

c) cosf =

sinf =

12.6 = 420°

b) Quadrant

c) cosfl =

sinf =

13.60 = —60°

b) Quadrant

c) cosfl =

sinf =

14.6 = —585°

b) Quadrant

c) cosfl =

sinf =
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